Chapter 9
Isoquant: a curve showing all possible combinations of inputs physically capable of producing a given fixed level of output.
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Marginal Rate of Technical Substitution: The rate at which one input is substituted for another (along an isoquant).

Isocost curve: Line that shows the various combinations of inputs that may be purchased for a given level of expenditure at given input prices.
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Shifts in Isocost Curves
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Expansion path: the curve or locus of points that shows the cost-minimizing input combination for each level of output with the input/ price ratio held constant.
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 Long-Run Costs

Long-run average cost:
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Economies of scale: the range of output over which long-run average cost (LAC) falls as output increases.
Diseconomies of scale: the range of output over which long-run average cost (LAC) rises as output increases.

Constant costs: No economies or diseconomies of scale occur thus LAC is flat and equal to LMC at all output levels.
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Economies of scope: the situation in which the joint cost of producing two or more goods is less than the sum of the separate costs of producing the goods.
Economies of scope exists when LTC(X,Y)< LTC(X, 0)+ LTC(0, Y).
Diseconomies of scope exists when LTC(X,Y)> LTC(X, 0)+ LTC(0, Y).
Short-run expansion path: horizontal line showing the cost-minimizing input combinations For various output levels when capital is fixed in the short run.
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